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A

2028 = =0a Lete|H M NS

FA LS
N TAAER JIEIXRA

Sl FEOpE (S5 A2
- _ - PSNE
SA -3 SAFA) - HREAMY - BES Ol & oK 'Oﬂ'@oEu HuE2
Hetns 6,268,504 6,942, 166 A673,572
= 111,264
= 1,167,900
p] 59,991
= 312,110
= 4,617,329
SAST BT 5,000 8,400 A3,400
<EpIEn 5,000 8,400 A3,400
Hupe =2 5,000 8,400 A3,400
202 04t 3,000 3,000 0
01 =LH 01| 3,000 3,000 0
OFBIPL A2 EZ O{H 100,000 #3021 108l 3,000
203 YRF Y| 2,000 2,000 0
03 Al F R IR = T| 2,000 2,000 0
OQIAEXRA APEAY 2,000,000 14! 2,000
le =3 500,000 0 500,000
= 280,000
= 220,000
12t o) 500,000 0 500,000
= 280,000
= 220,000
SESATNELAANY AES 2X2S 100,000 0 100,000
401 Al 2B L 204 100,000 0 100,000
01 Al&tt| 100,000 0 100,000
OSEZANSLBAY NLE AL
100,000,0002 * 14! 100,000
EMENYEL AL 400,000 0 400,000
= 280,000
2 120,000
401 AlEHI L 20| 400,000 0 400,000
= 280,000
2 120,000
01 Al 398,000 0 398,000
OUH IZMBHE ZHARL &)
398,000, 0002 *14! 398,000
= 278,600
2 119,400
03 Al& = THY| 2,000 0 2,000
OLHC IZMBHE THAY ALROY]
2,000,00024 %14} 2,000
= 1,400
= 600
BTN N L 2 1,432,000 1,475,000 43,000
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SN HADSD
Hu: #3843 Y L 2
ol B2 Are) BAS (eto): &2
= = — X L=
SA SR (S) - MRAY - BAS il &t i RS2
s 500,000
o 932,000
S &Y A3 1,432,000 1,475,000 243,000
s 500,000
i 932,000
LA HSe 245t 602,000 662,000 260,000
201 LBt F| 183,000 183,000 0
01 AL 22l bl 183,000 183,000 0
OLAZMIE 45 2 30,000,000 14! 30,000
OYYZHBE HEHA 28
12,000,000& = 12& 144,000
OLUZIHMBE Al AIEZ 900,000 =104 9,000
202 04| 3,000 3,000 0
01 =L YI 3,000 3,000 0
OYAIM2E XY PP =X
150,000& x2ZH 103 3,000
301 LB F 216,000 276,000 260,000
12IIEt2 43 216,000 276,000 260,000
ORIINSSA SEAEANSE XA
13,000,000 x12& 156,000
O2dL=ZHIE FHe 3 A MEXR
30,000,000 204 ‘=& 60,000
401 Al HI L2 0HHI 200,000 200,000 0
01 A&l 200,000 200,000 0
OYAUZMIE FHOIS SZMHAAS
50,000,000& *4JH 0t = 200,000
NE+=2AE NAMG (FLMAZSFEHSE A5-Y 830,000 813,000 17,000
or51e)
s 500,000
i 330,000
401 A& HI YL 20| 830,000 718,000 112,000
s 500,000
o 330,000
01 Al&HI 828,000 718,000 110,000
o=ggd Hatxd 828,000, 000& 14! 828,000
s 498,700
i 329,300
03 A€ 208l 2,000 0 2,000
O=&gd Hatxd AIZRUI
2,000,000 1A 2,000
s 1,300
i 700
ME=S= ] Fa 1,341,321 3,113,218 A1,771,897
= 103,464
| 59,991
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Mt s
nsed e
WSAN&g2 29 EEEEE
- — - PSRE !
SH-ZH.S4A(3) - HIRAY - BAS Off & 'Oﬂ'&oEu Hlwsz2
= 3,090
i 1,174,776
SANE=E 29 976,815 519,813 457,002
= 103,464
== 3,090
o 870,261
WEUTAIEE KAl 370,400 290,400 80,000
201 et Fy| 95,400 89,400 6,000
01 At 22|l 27,400 21,400 6,000
ounstlss g ===
6,000,000 14 6,000
OAZE HAMKA gl
8,000 1521 %20 2,400
OHASIIHI A = 6,000,000 23| 12,000
ounszad A= MHl 1,000,000& 53] 5,000
OUSXNEZ2R EBH(Z), 3= S)
2,000,000 1A 2,000
02 2322l 68,000 68,000 0
Qustss 3 4,000,000 123 48,000
OUECSER | 9|
20,000, 000 * 14 20,000
401 Al HI L 20| 275,000 201,000 74,000
01 A&l 275,000 201,000 74,000
QuUSHMHX &, 0H)
500, 000-& *20JH 2= 10,000
Qustss & 10,000,000 * 1070 &~ 100,000
QuSASHAHD 10,000,000 =3CH 30,000
oTXE Z&S X |2l
1,000, 0002 =100 & 10,000
OHASZE H 2 RAE(X=F)
500, 0002 *200H £ 10,000
oHASZE & 1,000, 0002 *2001 £ 20,000
oHAsZE 15,000, 000& 501 2 75,000
OHASZE & 1,000, 0002 *200H 2~ 20,000
S 22 228,475 209,230 19,245
101 Q124 H| 70,405 99,030 N28,625
04 J12tHZ22X S 70,405 99,030 228,625
OMI7 HSE ws2e o2y
91,0503 *2621 x 156 35,510
OZH=IE 2el 79,0503 *201 %31 4,902
OFZ X Bt ol 29,993
oplE==) 71,0503 x262 x 12! 18,616
O=F5=¢ 71,0503 *522 121 3,695
(OFSI==) S =/ 71,050 * 12 x 12! 853




SN dHDEW
M NSEE e
& WSAEE 2¢Y (el &3
% = PSNE
SN FH - S(S) - MRAY - BAS S dmET
QAN 222 13,3212 *120 Al 2tx 101 1,599
[@)=ES = 2,500,000& *121x13] 2,500
O=0H3FE=3 24,976,000 *0.045%1¢! 1,124
OLNELERESZ  24,976,000& +0.0165* 12! 413
OHLEEHRESZ 24,976,000 *0.0343+12! 857
OBIIQLEEREZ  857,000& 0. 115212l 99
O HEEFE S 24,976,000 +0.00948+ 12! 237
201 LetEdy| 24,400 11,400 13,000
01 At 22|l 12,600 0 12,600
CQusS®IAS &A= 100,000 x4 H x43] 1,600
OQMIT CHEE NE22 HULH
1,000,000 14! 1,000
OUAZEOIHE DY 2X A=
10,000, 000& » 14! 10,000
02 2322l 11,800 11,400 400
OSMEEz N RIS 400,000& x12& 4,800
Ollzns SEHEMEA SXES
1,750,000& *42 | 7,000
202 04l 2,800 2,800 0
01 =L YI 2,800 2,800 0
SEAEIE HREFA Y]
70,0003 +221%203] 2,800
207 &0 | 74,500 70,000 4,500
01 A E S| 74,500 70,000 4,500
OM4Xt WS JI2HE 8 289
19,500, 0003 » 14! 19,500
OXNsE@WEMAITS) JI2HE =8 84
40,000,000 14! 40,000
OUYZEO0IAEOIY BIASH T B
15,000, 000& » 14 15,000
307 2I2+0I A 11,370 11,000 370
02 QIZtBAAIEE X 11,370 11,000 370
OLADH2 ML K& 11,370, 0003 » 14 11,370
308 AtXIHH SOl 15,000 15,000 0
07 XIS REZ 15,000 15,000 0
OUANRENDEZSEHS AN 1|2
15,000,000& * 14 15,000
401 A& HI YL 20| 30,000 0 30,000
01 Al&HI 30,000 0 30,000
OHMIIF SSE=XE &X BEd 29
30,000,000 14! 30,000
HAZEAAE(BIS) 5 344,883 0 344,883
= 103,464
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SN HADED
MM D&Y N
SHol: DEALS 29 (ol Mg
- _ - PSNE
SN FH - S(S) - MRAY - BAS Ol &t o S dmET
= 241,419
403 RXISHHI S X2 0] 344,883 0 344,883
2 103, 464
= 241,419
02 ZII2SOICHE A2 = 9 et AT b 344,883 0 344,883
OBIAELAIAR(BIS) 75
344,883, 0002 14} 344,883
2 103, 464
= 241,419
HANBAIAH(BIS) RXES 19,757 14,183 5,574
308 XHXIEHH S 0| & 19,757 14,183 5,574
N SII2SOHEE &R AE AL HI 19,757 14,183 5,574
OHAFBAIAL(BIS) SABS
19,757,000 * 14 19,757
DESHN DA UMY 13,300 6,000 7,300
= 3,090
= 10,210
201 et Fy| 3,000 3,000 0
01 A2zl 3,000 3,000 0
OLEAE NF 222 2 3,000,0008 14! 3,000
301 YPYBNZ 10,300 3,000 7,300
< 3,090
2 7,210
00 SAFAIHI IR 2 4,700 0 4,700
Ounsotd W=H| 4,700,000 14! 4,700
< 1,410
2 3,290
12 JIEtE A3 5,600 3,000 2,600
ONYSEN SHPIS WAL DEH N
100, 0002 562 5,600
= 1,680
= 3,920
SEDELT X 301,806 280,105 21,701
p] 59,991
= 241,815
ZO0Hel SEAI2Y 256,806 280,105 A23,299
p] 59,991
2 196,815
307 glztol A 256,806 280,105 A23,299
| 59,991
2 196,815
05 QIZtRIE S 256,806 280,105 A23,299
OXZHQZSEIAl 294 256,806, 0003 » 14! 256,806
p] 59,991
2 196,815
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2 Mt
HM: nESs
e ==

- _ - &E
SA-Z3H - SA(ZAH) - HRAY - BES Off &F o4 'Oﬂ'@oEu Hws2
Zojol SUAl XY P 45,000 0 45,000
405 XH&H3 St 45,000 0 45,000
01 KA LS ZF SH) 45,000 0 45,000
OSEDNSHE(HABUA) 2L
45,000,000% * 144 45,000
Nel DEOHE &2 AS 62,700 2,313,300 2,250,600
0121012 S JHA A 62,700 2,313,300 2,250,600
201 LBt 62,700 9,300 53,400
01 At 22l 40,500 6,300 34,200
ORUSEIH (D) BIAA +48
1,350,002 +3074 & 40,500
02 ZT2YH| 22,200 3,000 19,200
ORISR () B223
1,850,002 1274 2 22,200
HERSE S48 X8 2,824,399 2,270,262 554, 137
2 7,800
2 387,900
= 309,020
2 2,119,679
SHAY X2 2,824,399 2,269,762 554,637
2 7,800
2 387,900
= 309,020
2 2,119,679
HASIH WX 22,700 23,100 A400
207 R L HI 19,500 19,900 A400
01 &R o] 19,500 19,900 A400
OS0EHA MBS A TAIT 89
19,500, 000! 14! 19,500
308 XHXIEHH SOl & 3,200 3,200 0
07 MXISHHARY S 3,200 3,200 0
OHASBALR BYLXES 2SS
3,200,000% * 14! 3,200
HASBAIY HEX 1,130,200 790,200 340,000
= 118,587
2 1,011,613
307 QI12H0I & 1,130,200 790,200 340,000
= 118,587
2 1,011,613
09 242X 1,130,200 790,200 340,000
OS0EHA HI4ALH HIYX S
900,000, 000! 14! 900, 000
= 99,027
2 800,973
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D MLDED
. HERE S48

D 2EAY XE

K&

SN B S() - MBAY - BES 01l &k o i HlmS2
OSOENASTEAL 22012 NEA 2
150,000& x14H = 12& 25,200
== 7,560
= 17,640
O2X BZHA K& 40,000,000 = 1CH 40,000
== 12,000
= 28,000
Os0EHA DEJIC goIXlY
35,000, 0003 »14] 35,000
OE0EHA QDABHE LAl
130,000, 000& * 14 130,000
HARSAIY &84 165,000 0 165,000
307 2I2t0I & 165,000 0 165,000
09 2dHEEXZ 165,000 0 165,000
OS0EHA NSNS AIZEO £4H X
35,000, 0003 »14] 35,000
Os0EHA RBLEH SYLAY X2
130,000,000 * 14! 130,000
HALH =S4 150,000 142,177 7,823
2 45,000
== 30,000
= 75,000
307 2I2t0I & 150,000 142,177 7,823
2 45,000
& 30,000
= 75,000
0 2+dHEEXZ 150,000 142 177 7,823
OSO0EHA SHXd SaEA
150,000,000 * 14! 150,000
= 45,000
== 30,000
= 75,000
SE DERYANYA(I2E HA) 600,000 600,000 0
= 300,000
& 90,000
= 210,000
307 2I2t01 & 600,000 600,000 0
= 300,000
& 90,000
= 210,000
09 2dHEEXZ 600,000 600,000 0
oltsHA 299 600,000,000 *14] 600, 000
= 300,000
== 90,000
= 210,000
SE DERYAYA(I2E A 246,600 246,600 0
= 42,900
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SN HSDSH
X‘IiH: EHSDLE C>/e->| I'%
Chel: 2SAIY X2 (&t &
SN (3H) - NEAY - BAS Ofl Ak o dE = HDE2
O &k o
o 61, 100
= 142,600
301 LBt M2 246,600 246,600 0
hag 42,900
= 61,100
= 142,600
12 JIEIE A2 246,600 246,600 0
O3|UEHA 2H 246,600,000 = 14! 246,600
s 42,900
= 61,100
o 142,600
EHAI2SAME MEXRA 78,649 107,685 A 29,036
= 3,558
o 75,091
201 LB AY| 49,426 43,942 5,484
01 AP 22|t 48,850 43,270 5,580
OEAl 0|2 2$2AZ NEBEHE E821D |
S (cHE) 110,000 «35CH 3,850
OEIAl 0|2 2UuF ATBME E82 (&0
) 50,000& x75CH*12& 45,000
02 =24 576 672 A 96
OEHAl IIEZ D] SARZ2 8,000 ~6CH*12& 576
307 212t0| & 27,948 36,670 N8, 722
= 3,558
= 24,390
09 2LHUHEX 27,948 36,670 N8, 722
OBHEZRE RHSH 0l
13,200& x70CH =128 11,088
OEAIRS IIESLSE 9,360, 000& x 14! 9,360
== 2,808
o 6,552
OL=FEAl X0 K& 1,500, 000& =5CH 7,500
= 750
o 6,750
308 AXIEHMSOIA 1,275 1,073 202
11 2| 2SO HSHE A EAE ALY 1,275 1,073 202
OEHAISAEE 2e|AlAE 29|
1,275,000 « 14! 1,275
EHAl 2 X2 A2 X 52,000 0 52,000
= 7,800
o 44 200
301 B2 A2 52,000 0 52,000
= 7,800
= 44200
12 J|Et = 52,000 0 52,000
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SN HADSD
HH: EDSE S8

el 2EAE N (el &3
=] X XH Ct2l (S = o HASZ OH x‘—-IL'i'E =2}
Tkl'ox—|'|_|"l‘|(2|)1|)'k"—rA|'|=|"l£o—1 0:"‘&'—| O:H&.OH t”DLEI:I

OEAI L2 &3 26,000,000 *2CH 52,000
= 7,800
s 44,200
SHHEEAl E43AY 19,250 0 19,250
= 5,775
s 13,475
307 QI2+0I A 19,250 0 19,250
< 5,775
s 13,475
09 2=HAHEXZ 19,250 0 19,250
OEHHE Al EHGHAIS 19,250, 0003 » 14! 19,250
< 5,775
s 13,475
TN 2=H RIIEEXS 360,000 360,000 0
307 QI2+0I A 360,000 360,000 0
09 2+HEXS 360,000 360,000 0
OF M 242K RIH2EZ
360,000, 000& » 14! 360,000
HE2AAH (M nEn) 112,727 75,286 37,441
ol 2| 69,821 46,834 22,987
QlEPAEH(M2 NS 69,821 46,834 22,987
101 124 H| 69,821 46,834 22,987
01 2= 67,648 46,834 20,814
oxU=2Rd 10,8413 «1321 %480 Al 2+ 67,648
03 BRA(RIAHA)2ENES 2,173 0 2,173
oxU2R=¢ 18, 105& * 121120 Al 2+ 2,173
JIE23 42,906 28,452 14,454
Jl2Zd(&detnsEn) 42,906 28,452 14,454
201 et Fy| 28,306 19,152 9,154
01 At 2teltl 28,306 19,152 9,154
oget=ZH| 12,730, 000& » 14! 12,730
O=gHl 32,000& 1401 x12& 5,376
OYXZ (A, H=I1) 850,000 x12& 10,200
202 04l 11,600 7,200 4,400
01 = LHGYI 11,600 7,200 4,400
OYRFa 0| 11,600, 000& » 14! 11,600
203 PR F2AY| 3,000 2,100 900
04 EN2ELRFAH| 3,000 2,100 900
OFRA2IHRFAH| 250,000 123 3,000
Hees(densn) 53,147 0 53,147
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RS M=,

D NRES(HENEDY)
D UWERAMNHKIS (NS

- _ - PSNE

SN BB G (E) - o . HHS S
LN XS (HdetnEn) 53, 147 0
LHEHH X & (M nE D) 53, 147 0
701 JIEtIHSHEHES 53,147 0
01 JIEtSl HEES 53,147 0

OFXEIAIE S £=
53,147,000 14 53,147
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